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Question Number : 1 Question Id : 7532292229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Satisty
2. Scream
3. Scissors
4. Science
5. Screw

Options :

1. ¥ 14325
2. % 13425
3. % 14352



4. % 13452

Question Number : 1 Question Id : 7532292229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al Xrsal &I WsadI | 3 aTd HH & STHR ford |

1. Satisty
2. Scream
3. Scissors
4. Science
5. Screw

Options :

1. ¥ 14325
2. % 13425
3. % 14352
4. % 13452

Question Number : 2 Question Id : 7532292230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

LQT, OVA, RAH, UFP, XKV
Options :
1. * OVA
2. % RAH
3. ¥ UFP
4. % XKV

Question Number : 2 Question Id : 7532292230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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LQT, OVA, RAH, UFP, XKV
Options :
1. % OVA
2. % RAH
3. ¥ UFP
4, ¥ XKV

Question Number : 3 Question Id : 7532292231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd word from the given alternatives.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. Pyramid
2. Sphere
3. Rhombus
4. Cube

Question Number : 3 Question Id : 7532292231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafrfa wy F f o feed # & v w1 B1 7R
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. foRifers

RIS



3. gy
4.9

Question Number : 4 Question Id : 7532292232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

QC:0OB:LW:?
Options :
1. ® JX
2. % KV
3.9 JV
4. % KX

Question Number : 4 Question Id : 7532292232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fou 7o fowed! & @ Sefda sierl &1 gfu|

QC:0OB:LW:?
Options :

1. # JX

2. % KV

3.¢¥ )V

4, % KX

Question Number : 5 Question Id : 7532292233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, a group of letters is given. The letters of each group are related with the letters of the same group by some
Logic/Rule/Relation. From the given alternatives, select a group of letters which follows the same Logic/Rule/Relation.



(CN, YH, UB)
Options :

1. # (LQ, HK, DF)
2. % (EX, AR, XL)
3. % (PF,LZ, FT)
4. ¥ (DW, ZQ, VK)

Question Number : 5 Question Id : 7532292233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad Uy &, 31eRi &1 Ue I9g [0 T 8 | TS g & 18R 39! THg & 31&RI & urd fovy dob/ad&dey 9 defid g1 fad e
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(CN, YH, UB)
Options :

1. # (LQ, HK, DF)
2. % (EX, AR, XL)
3. % (PF,LZ, FT)
4. ¥ (DW, ZQ, VK)

Question Number : 6 Question Id : 7532292234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘I love books’ is written as ‘+ % *’°, ‘Books give knowledge’ is written as ‘+ X +°, ‘Love give none’ is written as ‘* !
+’. What is the code for ‘I knowledge none’ in that code language?

Options :
1.¥ 1%%
2. % %I+
3. % %3
4. % %!+



Question Number : 6 Question Id : 7532292234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wmm ‘J-lTQTﬁ, I love books’ @I + % *’ mwg, ‘Books give knowledge’ R %ETGW%, ‘Love give none’ CAREES
%IETGTI?IT%I sT-raﬁ‘s' HINTH < knowledge none’ WWW%"

Options :

1.¥ 1%R

2. % %+

3. % *3

4, % %!+

Question Number : 7 Question Id : 7532292235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A + B’ means ‘A is father of B’, ‘A * B’ means ‘A is the mother of B’, ‘A $ B’ means ‘A is the brother of B’ and ‘A @ B’ means ‘A is the
sister of B’, then in the given expression P @ Q + D § B, how is P related to B?

Options :

1. # Mother
2. ¥ Aunt
3. # Sister

4. # Daughter

Question Number : 7 Question Id : 7532292235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e A+B BT A, BHTUATS, ‘A *B BT A, BHIAAIR, ‘ASB BT ‘A, BHTHR & dUT‘A @B BT 3 ‘A, BHI T8,
dAfeumuaEdSs P @ Q+D$BHP B [HY UHR Taferd g2

Options :

1. % AT

2. ¥ 3

3. % §gd

4. % T



Question Number : 8 Question Id : 7532292236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six persons A, B, C, D, E and F work on six different days of a same week from Sunday to Friday (not necessarily in the same order). Three
persons work between A and F. Two persons work between B and D. E works on Monday. C works after D, but before F.

Which of the following statement is correct?

I. B works on Friday.
II. C works on Wednesday.

Options :

1. % OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 8 Question Id : 7532292236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B8 AT A, B, C, D, E TUT F IAIR T YLHaR dd TS ] WIS P 38 [a107 fad IR BRI HRd & (STes! Tol B s pA A G| ATUTF &
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I. B LHAR &1 BT Bl ¢
II. C §YIR DI B FRAT ¢ |
Options :

1. % Had |
2. % Had Il
3. ¢ 1 AU Gl
4. % qEIIATR I




Question Number : 9 Question Id : 7532292237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of seven members is to be selected among ten members M1, M2, M3, M4, M5, M6, M7, M8, M9 and M10. M4 and M8 cannot be
selected together. M3 and M5 cannot be selected together. M1 and M9 have to be selected together. M6 and M7 have to be selected together. M2
cannot be selected with M5 or M8.

Which of the following members can be selected?
Options :

1. # M1, M2, M3, M4, M6, M7, M10

2. % M1, M3, M4, M5, M6, M7, M10

3. % M1, M2, M4, M5, M6, M7, M9

4. ¥ M1, M5, M6, M7, M8, M9, M10

Question Number : 9 Question Id : 7532292237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG g™ M1, M2, M3, M4, M5, M6, M7, M8, M9 dUT M10 H ¥ ITd Tl & T 11 &1 T84 BT g | M4 dUT M8 BT T0 T 1Y 7Tgt
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frafoiad & 9 for Tt &1 g1 S Ihell 82
Options :

1. % M1, M2, M3, M4, M6, M7, M10

2. % M1, M3, M4, M5, M6, M7, M10

3. % M1, M2, M4, M5, M6, M7, M9

4. ¥ M1, M5, M6, M7, M8, M9, M10

Question Number : 10 Question Id : 7532292238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.



Statements:
I. Some N are V.
II. All N are B.

Conclusions:
I. Al V are B.
II. Some B are N.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 7532292238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had FpY 1 SFIER0T Rl §

2. ¢ I DY 11 SRV BT §

3. % QI S 1 T 11 3FIRRUT B &
4. % Pz W} FIoHY SR T8 FRT §

Question Number : 11 Question Id : 7532292239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All P are Q.

II. Some Q are T.
III. No Q is R.

Conclusions:

I. NoPis R.

II. Some T are not R.
III. Some P are T.

Options :

1. ¥ Both conclusion I and II follows
2. % Both conclusion I and III follows
3. % All conclusion follows

4. # Both conclusion II and III follows

Question Number : 11 Question Id : 7532292239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3 frzrar 811t e o ofk fisR el &% i fou o o1 @ fsed, fou U sy & sMyR &R gfaaa g

DHY-:
LI P QB
IL.$S3Q, TEI

1. ®1s 1 Q. R & B

fep:

1. ®ig vtp, R TE B
IL.$S T, RIS &I
M.$S P, TRI



Options :

1. ¢ Gl FT5RY 1 T 11 38R $1d §
2. % QI FISHY [ T 111 RT3l §
3. % it Fepy SRRUT v §

4. % Q! FSHY 11 T 111 SRR A &

Question Number : 12 Question Id : 7532292240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

49 | 144 | 2
64 | 81 |1
56 | 108

Lh

6
1

b-J

-d

Options :
1. % 154
2.¥ 176
3. % 198
4. % 201

Question Number : 12 Question Id : 7532292240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy @ fau T fowedl O 9 Uy fog (2) & RIM WR 3 aTelt Ie &1 gl

49 | 144 | 256

64 | 81 | 121

56 (108 ?
Options :

1. % 154



2.9 176
3. % 198
4. % 201

Question Number : 13 Question Id : 7532292241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ means ‘+’, ‘B’ means ‘-, ‘C’ means ‘X’ and ‘D’ means ‘+’, then which of the following equation is not correct?
Options :

1.%# 16 A8B24C32D64=12

2.¥6A9B18C3A30=9

3.% 18C18B 18D 18 A 18 =341

4. # 8B2D8C4=7

Question Number : 13 Question Id : 7532292241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A BT 3R <+, B BT 3, <> BT 37 o T D BT 37 <+ g, al FmferiRaa & & i a1 vl w8t 7al 62
Options :

1.* 16 A8B24C32D64=12

2.¥6A9BISC3A30=9

3.% 18C18B 18D 18 A 18 =341

4. %#8B2D8C4=7

Question Number : 14 Question Id : 7532292242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many lawyers are man?



Lawyer

/ 41 F—Woman
Man

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1.28

2.33

3.58

4.92

Question Number : 14 Question Id : 7532292242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frdm aoid, TN 82




Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.28

2.33

3.58

4.92

Question Number : 15 Question Id : 7532292243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of girls which are only cars is 43.
II. The total number of books is 99.

Garl
r4
|43
21/33
7 Book
45

Car
Options :
1. % Only I
2. % Only I

3. % Both I and II
4. % Neither I nor 11

Question Number : 15 Question Id : 7532292243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRII

Question Number : 16 Question Id : 7532292244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Raman and Karan start walking in opposite direction. Raman walks 10 km and Karan walks 15 km. Raman turns to the left and walks 6 km.
Karan also turns to the left and walks 6 km. Raman turns to the left and walks 8 km. Karan also turn to the left and walks 12 km. How far 1s
Karan now from Raman?

Options :

1. % 5km
2. % 12 km
3.4 13 km
4. % 17 km

Question Number : 16 Question Id : 7532292244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T TUT BT fAuia o= & I SRy &R & | 794 10 . 7. Taar 8 Ut &= 15 b 1Y, Iaan g1 79 St ofR a1 § auT 6 ..
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AT § | B, T 3 fha-l T W 72

Options :

1. % 5fd A
2. % 12fe AL
3. ¢ 13 fop .
4. % 17fep 4

Question Number : 17 Question Id : 7532292245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy is facing towards south. He rotates 75 degree in the anti-clockwise direction. He rotates 145 degree in the clockwise direction. He rotates
180 degree in the clockwise direction. He rotates 270 degree in the anti-clockwise direction. He rotates 135 degree in the anti-clockwise
direction. He rotates 45 degree in the clockwise direction. Finally, he rotates 190 degree in the clockwise direction. In which direction is he
facing now?

Options :

1. # South-East
2. # North-East
3. % North-West
4. ¥ South-West

Question Number : 17 Question Id : 7532292245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TSI &0 BT 3R 7 T ] | I8 Irad o= o 75 f&uft guar 31 a8 cféromadt e & 145 f&3ht gran 81 a8 <Romad fezm d 180 f&h
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famm & 190 feTh gHaT B 1 2@ o by exn &Y 3R W@ wT ’2

Options :

1. % gfaorgd

2. % ITR-Yd



3. % JTR-UMEH
4. ¥ GRU-GIEY

Question Number : 18 Question Id : 7532292246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

3 <P

T
+

¥ 3

Options :

56 @

Question Number : 18 Question Id : 7532292246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

R RE:

Question Number : 19 Question Id : 7532292247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cuboid having dimension 2 cm x 6 cm % 8 cm is cut into small cubes of size 2 cm. How many small cubes will be obtained?
Options :

1. % 8

2.9 12



3. % 48
4. % 24

Question Number : 19 Question Id : 7532292247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

27 x 6 A x 8 YHT. SATATH ATt T TTH B 2 .1, 71U ATk BIC 1 H PIeT 1 & | fobe= BIC o UIed g1
Options :

1. % 8

2.9 12

3. % 48

4. % 24

Question Number : 20 Question Id : 7532292248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cube is coloured yellow on all of its faces. It is cut into 125 smaller cubes of equal size.

Which of the following statements are correct?

I. There are 36 small cubes which have only two yellow coloured faces.
II. There are 27 small cubes which do not have any yellow coloured face.
III. There are 63 small cubes which have exactly one yellow coloured face.

Options :

1.¥ Tand II

2. % Jand III

3. % [Tl and III
4. % I, 1l and III

Question Number : 20 Question Id : 7532292248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP U9 ot I Bad! &l Uid T A TS| 34 SRISR 7Y 919 125 DI 941 & Bl T 8|
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Options :
1.¥ IdUl I
2. % 1dYTIII
3. % I dYTIII
4. % 1 114dYTIII

General Awareness
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Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532292249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a type of reed instrument?
Options :

1. ¥ Shehnai

2. * Veena

3. % Table

4. * Alingya

Question Number : 21 Question Id : 7532292249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufefad o ¥ H1H U6 UHR &7 HRIDT are 82
Options :

1. ¥ XES

2. % qion

3. ® dddl

4. % 3fcig

Question Number : 22 Question Id : 7532292250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Festival — State is correct?

I. Saga Dawa — Assam
II. Bumchu — Sikkim



Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 22 Question Id : 7532292250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AER - g &I gfeied # ¥ oF 91 3 98 62

L. 9T <1 — 3 H
1. Yo - Rifden
Options :

1. % Hadl

2. ¢ HAd Il

3. % [ UGl

4. % qEIIATE I

Question Number : 23 Question Id : 7532292251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A market that has a small number of large firms is called an
Options :

1. % Monopoly

2. % Monopolistic competition

3. % Oligopoly

4. ¥ Monopsony

Question Number : 23 Question Id : 7532292251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g8 SR ForgH 91 BTAf B YISt BT Bl © FHeard ol
Options :

1. % THNIBR

2. % UHIUSRI ufaegef

3. ¢ JCTIHR

4. % ol TRIMYBR

Question Number : 24 Question Id : 7532292252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding CPI?

L. It includes the prices of imported goods.
II. The weights differ according to the production level of each good in CPI.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 24 Question Id : 7532292252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ $Had |

2. % Had I

3. % [ QYT

4. % qIATIATAN




Question Number : 25 Question Id : 7532292253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following diseases does not spread through the air?
Options :

1. # Common cold

2. # Pneumonia

3. #® Tuberculosis

4. ¥ Cholera

Question Number : 25 Question Id : 7532292253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied o & &9 91 0T ag ¥ 78! Hhadl 62
Options :

1. % QIS

2. % famifaan

3. % &R

4. goll

Question Number : 26 Question Id : 7532292254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct sequence of reactivity of metals?
Options :

1.¥ Zn>Pb>Cu> Ag

2. % Zn>Pb>Ag>Cu

3. % Zn>Cu>Pb>Ag

4, % Cu>Zn>Pb>Ag

Question Number : 26 Question Id : 7532292254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffad § @ &1 urgail B afesadr &1 gel BH 72
Options :

1.¥ Zn>Pb>Cu> Ag

2. % Zn>Pb>Ag>Cu

3.% Zn>Cu>Pb>Ag

4. % Cu>Zn>Pb>Ag

Question Number : 27 Question Id : 7532292255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The magnetic field inside a long straight solenoid carrying current is same at all the points.
II. The magnetic field of a solenoid carrying a current is similar to that of bar magnet.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 27 Question Id : 7532292255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 Hy= 981 82

. U faggd urmare! et weft afeiferest & HiaR Jewta & wt fagsl R v giar g
1. YRTATE! GRATIHT HT GaH 1 &7 B TP & THH g1 & |

Options :

1. % had |

2. % Had II

3. ¢ 1YL Gl




4. % qIEIAIBI I

Question Number : 28 Question Id : 7532292256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is the largest producer of Jute in the world?
Options :

1. ¥ India

2. % United states of America

3. % China

4. % Brazil

Question Number : 28 Question Id : 7532292256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3y & gou= o1 g 981 IATCH S P 82
Options :

1. YRd

2. % Yo Y SARBT

3. % 9

4. % SSite

Question Number : 29 Question Id : 7532292257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries does not share land boundary with India?
Options :

1. # China

2. % Afghanistan

3. ¥ Myanmar

4. ¥ Tajikistan



Question Number : 29 Question Id : 7532292257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9 o 91 ¥ YR & a1y Y AT AT T8l HRd1 /2
Options :

1. % dH

2. ® GBI

3. % WHAR

4. ISHBEH

Question Number : 30 Question Id : 7532292258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Khadar soil is more fertile than the bangar soil.
I1. Entire northen plains are made of alluvial soil.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 7532292258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefEd & ¥ o9 91 By 981 82

1. WG H&T SR el @r\sqlcu 3USIS, Bt &
I1. Ul I A ae Jal 9 s g |
Options :

1. % Had |




2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 31 Question Id : 7532292259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Prarthana Samaj was established in
Options :

1. % 1888

2. % 1882

3. % 1864

4. ¥ 1867

Question Number : 31 Question Id : 7532292259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7T TS H Ry1Ud o |
Options :

1. # 1888

2. % 1882

3. % 1864

4, ¥ 1867

Question Number : 32 Question Id : 7532292260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Harshacharita was written by

Options :

1. # Kalidas

2. ¥ Banabhatta

3. % Jayadev



4. ¥ Ashvaghosha

Question Number : 32 Question Id : 7532292260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gafd & grifaRarman e
Options :

|. % Hldle™

2. ¥ dIUMHS

3. % SR

4. % YOy

Question Number : 33 Question Id : 7532292261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Vardhamana Mahavira left home at the age of 30.
II. The Buddha attained enlightment at Bodh Gaya.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 33 Question Id : 7532292261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 HY= I8 82

L. TEHH AEIER = 30 T9 &! g H R BlS faa
11. §5 3 §1Y 71 § T UIed fobam T



Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 34 Question Id : 7532292262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As on 15th July 2021, who is the vice-chairman of Niti Aayog?
Options :

1. ¥ Dr. Rajiv Kumar

2. % Dr. VK Saraswat

3. # Dr. VK. Paul

4. # Rao Inderjit Singh

Question Number : 34 Question Id : 7532292262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 ST 2021 B, =ifA SN & IuTede S &2
Options :

1. ¢ I35l $UR

2. % I d1%. gR&d

3. % gldl.&. Uid

4. % 39 3goild [Kig

Question Number : 35 Question Id : 7532292263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In June 2021, which of the following ministry has launched ‘Namaste Yoga’ mobile app?
Options :



1. # Ministry of women and child development
2. # Ministry of civil aviation

3. ¥ Ministry of AYUSH

4. ¥ Ministry of Health and Family welfare

Question Number : 35 Question Id : 7532292263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 2021 ®, FafaRad & 9 forg damea 3 <o I diesd Uw di-d fear g2
Options :

1. % Higd U o1t faehTd Haarerd

2. % 9NR faHH HAreg

3. ¢ 3TV HATTY

4. % RRY T4 GRAR D10l HaATerd

Question Number : 36 Question Id : 7532292264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Carolina Araujo has become first non-Indian to win Ramanujan prize for young Mathematcians. She belongs to which country?
Options :

1. # Australia

2. # France

3. ¥ Brazil

4. ¥ Canada

Question Number : 36 Question Id : 7532292264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRITCHT SRTEST T TR o forg Mo RIBR Siia- arell gl IR RG99 715 g | 98 ford =1 &1 78 aTall 82
Options :

1. % 3fferan

~




2. % THiyg
3. ¢ §old
4. % DHAS]

Question Number : 37 Question Id : 7532292265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which part of Indian constitution, details of citizenship are mentioned?
Options :

1. ® 1V

2. % I

3.¥11

4, %1

Question Number : 37 Question Id : 7532292265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TfTeT & {58 YRT & AFREG 1 & ool 1 I 62
Options :

1. # 1V

2. % 1II

3.9 11

4, % 1

Question Number : 38 Question Id : 7532292266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which Amendment Act the Fundamental Duties of citizen are included in Indian constitution?
Options :

1. ¥ 42nd Amendment Act

2. % 73rd Amendment Act

3. # 78th Amendment Act



4. % 56th Amendment Act

Question Number : 38 Question Id : 7532292266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TRMe ST gRT AN & Mfeies daedl o HRdTT Wfqur & e foar mar g2
Options :

1. ¢ 42 9 I=Me ATy

2. % 73 91 xMe AR

3. % 78 9 ARMYA ffYgH

4. % 5691 UMY SHfAFTH

Question Number : 39 Question Id : 7532292267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players are there in each team of polo?
Options :

1. %7

2.¥4

3.% 8

4. % 11

Question Number : 39 Question Id : 7532292267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ol &1 U < H e Raare! gid 87
Options :

1. %7

2.9 4

3.% 8

4. % 11



Question Number : 40 Question Id : 7532292268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has won the French Open 2021 women’s singles title?
Options :

1. ¥ Barbora Krejcikova

2. % Anastasia Pavlyuchenkova

3. # Sofia Kenin

4. % Alice Mertens

Question Number : 40 Question Id : 7532292268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Thd 31U 2021 Higdl Thdl RadTel fbe St g2
Options :

1. ¢ SRERT shuiiebidl

2. % SRR Uldega-dh dl

3. % Tifthar b

4. ® Ui 9d=g

Arithmetic Ability

Group Number : 3

Group Id : 753229124
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Ability

Section Id : 753229124
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229149
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532292269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of

6°+8*+10° +12°—14*—171°
Options :

1. * 25

2. % 36

3.¥ 27

4. % 20

Question Number : 41 Question Id : 7532292269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
62 +8% +10° +122-14%-11?
&1 HHE FT8?



Options :
1. * 25
2. % 36
3.¥27
4. % 20

Question Number : 42 Question Id : 7532292270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the sum of the squares of first 15 natural numbers?
Options :

1. % 1440

2.9 1240

3. % 1340

4. % 1640

Question Number : 42 Question Id : 7532292270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYH 15 Wpidd SRS & vl BT T ol g2
Options :

1. # 1440

2.9 1240

3. % 1340

4. % 1640

Question Number : 43 Question Id : 7532292271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the remainder when the largest three digit number is divided by 11?
Options :

1.#*0



2.%1
3. % 8
4.9

Question Number : 43 Question Id : 7532292271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 3iehl Bt T TSt TBAT BT 11 J fIUTRTT B3 TR AV 1 g2
Options :

1.* 0

2. %1

3. % 8

4.¥9

Question Number : 44 Question Id : 7532292272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of

L 6.25%0.0064 % 0.09 )

1
[ 0.81x4.84 \z

Options :
1. #® 36
2. % 40
3.9 33
4. % 30

Question Number : 44 Question Id : 7532292272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



1
081x4.84 2
6.25x 0.0064 x 0.09

BT HH H1 52
Options :

1. # 36

2. % 40

3.9 33

4. % 30

Question Number : 45 Question Id : 7532292273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy added all natural numbers from 1 to 10, however he added one number twice due to which the sum became 57. What is that number which
he added twice?

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 45 Question Id : 7532292273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U dSh 4 1 9 10 dP 1 G Urepfder TRemsdi ol Sirel afdhd 39 Udh WRel &l &l IR Siie [T foRies HRUTANT 57 81 77| 98 I il
2 R SEA S IR e 82

Options :
1. #* 1
2.9 2
3.%3
4. % 4




Question Number : 46 Question Id : 7532292274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Td $1 3ffohd e 5000 ¥ €1 Tfe 3 2900 ¥TY & a1 7T &, Tl He Uia=id o1 82
Options :

1. # 56 ufa=rd

2. ® sgyfa=d

3. % 48 yfd=d

4. ¥ 42 gfaerd

Question Number : 46 Question Id : 7532292274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marked price of book is Rs. 5000. If it is sold for Rs. 2900, then what is the discount percentage?
Options :

1. # 56 percent

2. % 58 percent

3. % 48 percent

4. ¥ 42 percent

Question Number : 47 Question Id : 7532292275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 25 percent of 480 + 20 percent of 240?
Options :

1. % 172

2. ¥ 168

3. % 166

4. % 170

Question Number : 47 Question Id : 7532292275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

480 I 25 TFARTT + 240 I 20 IR BT T T 87
Options :

1. % 172

2.¥ 168

3. % 166

4. % 170

Question Number : 48 Question Id : 7532292276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 37 is subtracted from 38 percent of a number, then the result is 153. What is the value of the number?
Options :

1. ¥ 500

2. % 550

3. % 450

4. * 400

Question Number : 48 Question Id : 7532292276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i ot Te & 38 fa=rd & ¥ 37 $I ICwT S, df UM 153 ST & | TReAT &1 T &1 52
Options :

1. ¥ 500

2. % 550

3. % 450

4. % 400

Question Number : 49 Question Id : 7532292277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The ratio of selling price to the cost price is 11 : 12. What is the loss percentage?
Options :

1. % 12.5 percent

2. % 7.28 percent

3. % 8.33 percent

4. % 9.09 percent

Question Number : 49 Question Id : 7532292277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faehd T &1 o0 Yed ¥ 31U 11 : 12 § 1 8T Ufa=d a1 82
Options :

1. % 12.5 gfa=rd
2. % 728 Yfa=rd
3. ¢ 8.33 Ufavid
4. % 9,09 gfa=rd

Question Number : 50 Question Id : 7532292278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifx:y=2:3andy:z=2:1,then what is the value of x : y : z?
Options :

1. % 6:
2.% 2
3.¥4;
4. % 4

oo N W B~
W W = W

Question Number : 50 Question Id : 7532292278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1C|ﬁ'x:y=2:3(_‘[24'[y:z=2: I%K‘ﬁx:yzzﬁqﬂ?ﬂ'[%?
Options :



l.% 6:4:3
2.%2:3:1
3.904:6:3
4. % 4:8:3

Question Number : 51 Question Id : 7532292279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In what ratio sugar of Rs. 25 per kg should be mixed with sugar of Rs. 35 per kg so that the mixture is worth Rs. 28 per kg?

Options :
1.¥7:3
2.% 7:4
3.%2:3
4. % 6:5

Question Number : 51 Question Id : 7532292279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

25 S0 Ui fob U1, arelt it bt 35 30 Ufdl fob 7. areft =i+t & ar T srura o fireiran Sie difds [@rsor &1 ged 28 30 wfd .31,
if3?

Options :

1.¥7:3
2. % 7:4
3.%2:3
4. % 6:5

Question Number : 52 Question Id : 7532292280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest received on a sum is 16/25 of the sum. The number of years is equal to the annual rate of interest. What is the annual rate of
interest?

Options :



1. # 12.5 percent
2. % 10 percent
3. % 8 percent
4. # 9 percent

Question Number : 52 Question Id : 7532292280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T MR TR YT fodT T TR OT ST, AT BT 16/25 | aN1 bt TSHT TS i AT &R o SRIR g | TS B1 AT &2 ol /2
Options :

1. % 125 Ufa=d

2. % 10 Uf=rd

3. ¢ g Ufa=rd

4, % 9 GfRrd

Question Number : 53 Question Id : 7532292281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train is travelling at the speed of 36 km/hr. How much time will the train take to cover a distance of 7/10 of a kilometer?
Options :

1. % 50 seconds

2. % 90 seconds

3. ¥ 70 seconds

4. % 110 seconds

Question Number : 53 Question Id : 7532292281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YATS! 36 fob 1Y /8T &1 71 o =a Wel €1 Uh fhalHiex & 7/10 1 ol Bl a9 B H IeHTS! fhaT 9y it
Options :

1. % 50 JHUS



2. % 90 JHUS
3. ¢ 70 YHUS
4. % 110 JHUS

Question Number : 54 Question Id : 7532292282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus moves at the speed of 68 km/hr after repairing and moves at the speed of 34 km/hr before repairing. It covers a distance of K km in 8 hours
after repairing. How much time will it take to cover a distance of K/4 km before repairing?

Options :

1. ¥ 4 hours
2. % 6 hours
3. % 8 hours
4. % 5 hours

Question Number : 54 Question Id : 7532292282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 9 TR BRI & U 68 fob. Y. /et & 71 O Tl & 9UT FREd R 9 Ugd 34 b 1t./giet &1 71 & geid! 8 | TRWd HRH &
U1 98 K fob 1 ) 1o g8 Y 8 6 H a0 Rl 8 | FRAd X Ugd I8 K4 [ . 3t &t b g A | fpae v ot

Options :
1. ¥ 49cT
2. % 6YcT
3. % gYc]
4. ® 59T

Question Number : 55 Question Id : 7532292283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 men or 3 boys can complete a work in 96 days. 6 men and 7 boys will complete the same work in how many days?
Options :

1. % 21 days



2. ¥ 18 days
3. % 27 days
4. % 36 days

Question Number : 55 Question Id : 7532292283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 T3 7 3 TSP Uh BT Bl 96 o T R A Ahd €1 6 TSN T 7 A8 I B B! fbaq o & QR Hel
Options :

1. % 21183

2. ¢ 18feA

3. % 27feq

4. % 36 A

Question Number : 56 Question Id : 7532292284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Diameter of a circle is 70 cm. What is the area of this circle?
Options :

1. ¢ 3850 cm?

2. # 1540 cm?

3. % 7700 cm?

4. % 6450 cm?

Question Number : 56 Question Id : 7532292284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH g9 D1 A 70 T, 81 39 g1 HT &% o1 g2
Options :

1. ¢ 3850 9.1 .2
2. % 1540 9.1 2



3. % 7700 9.1 2
4. % 6450 .0} 2

Question Number : 57 Question Id : 7532292285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Length of a rectangle is 10 cm more than the double of its breadth. If length is 40 cm, then area of the rectangle is 800 cm?.
II. Side of a rhombus is 20 cm. If length of one of its diagonal is 32 c¢m, then area of rhombus is 384 cm?.

Options :

1. % Only I

2. % Only II

3. % Both I and II

4. % Neither I nor II

Question Number : 57 Question Id : 7532292285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

1. U 3T0d &1 TS SUD! AI8Ts & SRAT U 10 J.. 34w 71 afe dars 40 9.1 8, Y Smad &1 &% d 800 .12 B
1. T FHaqys &1 Yo 20 .41, 81 IS $HP TH a0l &1 dars 32 A, 8, 0 THaqysl &1 &9wmd 384 A.H1 2 B

Options :

1. % PHadl
2. ¥ Had Il
3. % [qUT el
4. % 1B

Question Number : 58 Question Id : 7532292286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table given below shows the number of workers in six different companies for 3 years.

Company e

X1 Y2 Y3
A 90 120 300
B 150 30 420
C 140 200 600
D 270 400 520
E 180 550 340
F 50 600 190

Which of the following statement is correct?
I. The average number workers in company A for three years is 170.
II. The sum of number of workers in company D for all three years is 1290.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 58 Question Id : 7532292286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 78 difereT ©: fafvs ufal 3 auf & o sHaial ot Te o cxiid gl



- CL)

Y1 Y2 Y3
A 90 120 300
B 150 30 420
B 140 200 600
D 270 400 520
E 180 550 340
F 50 600 190

faferiad 7 9 & 91wy I8t 82

1. 1 o & g ot A H SHaial ot 3id I=A1 170 B
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Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % AT I

Question Number : 59 Question Id : 7532292287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of boys and girls in five different states.
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What is the ratio of number of boys and girls in state N?
Options :

1.%7:5

2.%6:13

3.85:9

4.¥5:7

Question Number : 59 Question Id : 7532292287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.%7:5
2.%6:13
3.%5:9
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Question Number : 60 Question Id : 7532292288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the production of trucks by two companies in six different years.
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Which of the following statement is correct?

I. The ratio of the production of trucks by company L in year Y1 to the production of trucks by company M in year Y3 is 1 : 8.

II. The number of trucks produced by company L in year Y6 is 25 percent of the number of trucks produced by company M in year Y1.
Options :

1. ¥ Only I

2. % Only II

3. % Both I and II

4. % Neither I nor II

Question Number : 60 Question Id : 7532292288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
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Number of Questions to be attempted : 16
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532292289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The report card revealed that enough not has been (1)/ done yet to reverse the ecological damage (2)/from years of misdirected water
management (3)/. No error (4)

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 61 Question Id : 7532292289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The report card revealed that enough not has been (1)/ done yet to reverse the ecological damage (2)/from years of misdirected water
management (3)/. No error (4)

Options :
1.¥ 1
2.% 2
3.%3
4. % 4

Question Number : 62 Question Id : 7532292290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Having reviewed dozen of (1)/professional trainings, I find this (2)/ messaging somewhat understandable (3)/.No error (4)
Options :

1.9 1

2.% 2

3.%3

4. % 4

Question Number : 62 Question Id : 7532292290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Having reviewed dozen of (1)/professional trainings, I find this (2)/ messaging somewhat understandable (3)/.No error (4)
Options :

1.9 1

2. % 2

3.%3

4. % 4



Question Number : 63 Question Id : 7532292291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

His tragedy is that he rarely finds a butterfly.

Options :

1. # is this
2. # that

3. % was this

4. ¥ No improvement

Question Number : 63 Question Id : 7532292291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

His tragedy is that he rarely finds a butterfly.
Options :

1. # is this

2. % that

3. ¥ was this

4. ¥ No improvement

Question Number : 64 Question Id : 7532292292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Me and My friends went for shopping.




Options :

1. ¥ My friends and I
2. % My friends and me
3. # T and my friends

4. ¥ No improvement

Question Number : 64 Question Id : 7532292292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Me and My friends went for shopping.

Options :

1. ¥ My friends and I
2. % My friends and me
3. # T and my friends

4. % No improvement

Question Number : 65 Question Id : 7532292293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There are a few people in our lives who leave marks.
Options :

1. # indelible

2. % inedible

3. % illegal

4. % indirect

Question Number : 65 Question Id : 7532292293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

There are a few people in our lives who leave marks.
Options :

1. ¥ indelible

2. % inedible

3. # illegal

4. % indirect

Question Number : 66 Question Id : 7532292294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

May be you are fragile for this work.
Options :

1. # very

2. ¥ too

3. #® some

4. % few

Question Number : 66 Question Id : 7532292294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

May be you are fragile for this work.
Options :

1. # very

2. ¥ too

3. % some

4. % few



Question Number : 67 Question Id : 7532292295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Mosses are

P: moist shady locations

Q: and are commonly found in
R: world except in salt water
S: distributed throughout the

Options :

1. ®* SRPQ
2. % PSRQ
3. * QRSP
4. ¥ SRQP

Question Number : 67 Question Id : 7532292295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Mosses are

P: moist shady locations

Q: and are commonly found in
R: world except in salt water
S: distributed throughout the

Options :

1. = SRPQ
2. * PSRQ
3. * QRSP
4. ¥ SRQP

Question Number : 68 Question Id : 7532292296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: kings on the old city’s outskirts

Q: most of the parks and gardens of the
R: modern central city are on

S: land that formerly was reserved for the

Options :

1. ¥ QRSP
2. % RQPS
3. ¥ PSRQ
4. % QSPR

Question Number : 68 Question Id : 7532292296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: kings on the old city’s outskirts

Q: most of the parks and gardens of the
R: modern central city are on

S: land that formerly was reserved for the

Options :

1. ¥ QRSP
2. % RQPS
3. ¥ PSRQ
4. % QSPR

Question Number : 69 Question Id : 7532292297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Disgruntled
Options :



1. % Tyrant

2. % Upright
3. % Doleful
4. % Grunted

Question Number : 69 Question Id : 7532292297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Disgruntled
Options :

1. # Tyrant
2. % Upright
3. ¥ Doleful
4. % Grunted

Question Number : 70 Question Id : 7532292298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Abrogate
Options :

1. # Stupidity
2. # Forsake
3. % Retile

4. ¥ Establish

Question Number : 70 Question Id : 7532292298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Abrogate
Options :

1. # Stupidity
2. # Forsake
3. # Retile

4. ¥ Establish

Question Number : 71 Question Id : 7532292299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Foolfil

2. % Fulfil

3. % Fullfil

4. % Fulfel

Question Number : 71 Question Id : 7532292299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Foolfil

2. ¥ Fulfil

3. % Fullfil

4. % Fulfel

Question Number : 72 Question Id : 7532292300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. # Ocassion
2. # Qccassion
3. # QOcesion

4. % Qccasion

Question Number : 72 Question Id : 7532292300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Ocassion

2. % Occassion

3. # Ocesion

4. ¥ QOccasion

Question Number : 73 Question Id : 7532292301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To set by the ears
Options :

1. # To be serious

2. % To cause commotion
3. ¥ Not withstanding

4. # In great difficulties

Question Number : 73 Question Id : 7532292301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



To set by the ears
Options :

1. % To be serious

2. % To cause commotion
3. ¥ Not withstanding

4. # In great difficulties

Question Number : 74 Question Id : 7532292302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cut one’s coat according to one’s cloth
Options :

1. # Money that is spent quickly

2. % To make a fortune

3. # To maintain one’s position

4. % To live within one’s means

Question Number : 74 Question Id : 7532292302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cut one’s coat according to one’s cloth
Options :

1. # Money that is spent quickly

2. % To make a fortune

3. % To maintain one’s position

4. % To live within one’s means

Question Number : 75 Question Id : 7532292303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A journey over water in a vessel
Options :

1. ® Elegy

2. * Safari

3. % Sojourn

4. ¥ Voyage

Question Number : 75 Question Id : 7532292303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A journey over water in a vessel

Options :

1. * Elegy

2. * Safari

3. % Sojourn

4. ¥ Voyage

Sub-Section Number : 2
Sub-Section Id : 753229151
Question Shuffling Allowed : Yes

Question Id : 7532292304 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

In developed countries, road traffic death rates have decreased since the 1960s because of successful interventions such as seat belt safety laws,
enforcement of speed limits, warnings about the dangers of mixing alcohol consumption with driving, and safer design and use of roads and
vehicles. For example, road traffic fatalities declined by 27 percent in the United States and by 63 percent in Canada from 1975 to 1988. But
traffic fatalities increased in developing countries during the same period—by 44 percent in Malaysia and 43 percent in China, for instance.



More than one-half of all road traffic deaths globally occur among people ages 15 to 44—their most productive earning years. Moreover, the
disability burden for this age group accounts for 60 percent of all DALY's lost because of road traffic accidents. The costs and consequences of
these losses are significant. Three-quarters of all poor families who lost a member to road traffic death reported a decrease in their standard of
living, and 61 percent reported they had to borrow money to cover expenses following their loss. The World Bank estimates that road traffic
injuries cost 1 percent to 2 percent of the gross national product (GNP) of developing countries, or twice the total amount of development aid
received worldwide by developing countries.

As in developed countries, driver impairment is an important component of road traffic accidents in developing countries. Driving at excess
speeds, while under the influence of alcohol or drugs, while sleepy or tired, when visibility is compromised, or without protective gear for all
vehicle occupants are major factors in crashes, deaths, and serious injuries.

In general, pedestrians, cyclists, and moped and motorcycle riders are the most vulnerable road users as well as the heaviest users of roads in
poor countries. Most people who use public transportation, bicycles, or mopeds and motorcycles or who habitually walk are poor, illuminating
the higher risk borne by those from less privileged. In Asia, for instance, motorized two- and three-wheelers (such as motorized rickshaws) will
make up the anticipated growth in numbers of motor vehicles.

Sub questions

Question Number : 76 Question Id : 7532292305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?

Options :

1. # Difference between the safety rules of developed and developing countries
2. ¥ Road Traffic Accidents Increase Dramatically Worldwide

3. ¥ Reasons for growing death numbers globally

4. # Road-traffic accidents

Question Number : 77 Question Id : 7532292306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an important component of road traffic accidents in developing countries?
Options :

1. ¥ Driver impairment

2. ¥ Driving two-wheeler with more than 2 people

3. * Driving at excess speeds

4. # Driving without any protective gear



Question Number : 78 Question Id : 7532292307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is NOT the synonym of ‘enforcement’?
Options :

1. # Compelling

2. # Imposition

3. # Implement

4. ¥ Abandon

Question Number : 79 Question Id : 7532292308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which statement is definitely true?

Options :

1. # It’s not mandatory that people who are riding bicycle or walking on road are poor.

2. # As per the estimate of World Bank road traffic injuries cost 1 percent to 2 percent of the gross Domestic product of developing countries
3. ¥ More than one-half of all road traffic deaths globally occur among people at the age of their productive years.

4. % Road traffic fatalities declined by 27 percent in the United States and by 63 percent in Canada in 1975.

Question Number : 80 Question Id : 7532292309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘disability’?
Options :

1. ¥ Capable

2. # Faulty

3. # Deficiency

4. % Stability

Question Id : 7532292304 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following information carefully and answer the given questions.

In developed countries, road traffic death rates have decreased since the 1960s because of successful interventions such as seat belt safety laws,
enforcement of speed limits, warnings about the dangers of mixing alcohol consumption with driving, and safer design and use of roads and
vehicles. For example, road traffic fatalities declined by 27 percent in the United States and by 63 percent in Canada from 1975 to 1988. But
traffic fatalities increased in developing countries during the same period—by 44 percent in Malaysia and 43 percent in China, for instance.
More than one-half of all road traffic deaths globally occur among people ages 15 to 44—their most productive earning years. Moreover, the
disability burden for this age group accounts for 60 percent of all DALY's lost because of road traffic accidents. The costs and consequences of
these losses are significant. Three-quarters of all poor families who lost a member to road traffic death reported a decrease in their standard of
living, and 61 percent reported they had to borrow money to cover expenses following their loss. The World Bank estimates that road traffic
injuries cost 1 percent to 2 percent of the gross national product (GNP) of developing countries, or twice the total amount of development aid
received worldwide by developing countries.

As in developed countries, driver impairment is an important component of road traffic accidents in developing countries. Driving at excess
speeds, while under the influence of alcohol or drugs, while sleepy or tired, when visibility is compromised, or without protective gear for all
vehicle occupants are major factors in crashes, deaths, and serious injuries.

In general, pedestrians, cyclists, and moped and motorcycle riders are the most vulnerable road users as well as the heaviest users of roads in
poor countries. Most people who use public transportation, bicycles, or mopeds and motorcycles or who habitually walk are poor, illuminating
the higher risk borne by those from less privileged. In Asia, for instance, motorized two- and three-wheelers (such as motorized rickshaws) will
make up the anticipated growth in numbers of motor vehicles.

Sub questions

Question Number : 76 Question Id : 7532292305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?

Options :

1. # Difference between the safety rules of developed and developing countries
2. ¥ Road Traffic Accidents Increase Dramatically Worldwide

3. % Reasons for growing death numbers globally

4. # Road-traffic accidents

Question Number : 77 Question Id : 7532292306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an important component of road traffic accidents in developing countries?
Options :

1. # Driver impairment



2. ¥ Driving two-wheeler with more than 2 people
3. ® Driving at excess speeds

4. ® Driving without any protective gear

Question Number : 78 Question Id : 7532292307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words is NOT the synonym of ‘enforcement’?
Options :

1. # Compelling

2. ® Imposition

3. % Implement

4. ¥ Abandon

Question Number : 79 Question Id : 7532292308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which statement is definitely true?

Options :

1. ® It’s not mandatory that people who are riding bicycle or walking on road are poor.

2. % As per the estimate of World Bank road traffic injuries cost 1 percent to 2 percent of the gross Domestic product of developing countries
3. ¥ More than one-half of all road traffic deaths globally occur among people at the age of their productive years.

4. ® Road traffic fatalities declined by 27 percent in the United States and by 63 percent in Canada in 1975.

Question Number : 80 Question Id : 7532292309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the antonym of the word ‘disability’?
Options :

1. ¢ Capable

2. % Faulty

3. # Deficiency



4. % Stability
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Question Number : 81 Question Id : 7532292310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U aroRy  XGifohd W T Ja1H J1d fhforg |




I 9gd Hed asdl g |
Options :

1. % JfFggars gaqaH
2. % JEYIAD Ta-H

3. ¢ fRegars 9dqm

o C
4. ® T[T Hd-TH

Question Number : 81 Question Id : 7532292310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 71U are § Y@ifed U &1 daH 1d TR |
g 9gd Hed dsd1 g |

Options :
1. % JFygarad JaIH
2. ® QEYIEI® Fa-TH

3.« [Rygarae 941
4. % fAoIara® JIAH

Question Number : 82 Question Id : 7532292311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferw T arer & foan 31 BT
o7 AR F HioH SaTd |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

R CERINED



2. gHHD
3. PHB
4. IROMfep

Question Number : 82 Question Id : 7532292311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T TTQ arerRr H fobam 1d SHifvTT |
A TR & HIoH Sard |
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

IGCEAINGD
2. GHHG

3. 3[HHB
4. IR

Question Number : 83 Question Id : 7532292312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few T 2} 1 TE TH- e 1 BT
Options :

1. % Iqd-ga!

2. ¥ HChd-hegd

3. % HI-hId

4. % IGA-3TT

Question Number : 83 Question Id : 7532292312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o TN Trsc| T TRT dTH-dGd J1d P |

Options :

1. % YreH-gl
2. ¥ Db d-hCgd
3. ® hg-hld

4, % Jdqd-3TT

Question Number : 84 Question Id : 7532292313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T Ysg T T G Wsg GTH 1A DI

BT : HUf
Options :
I.VW:W
2. % 3T : fpaH
3.”@:%}
4. % THS : Al

Question Number : 84 Question Id : 7532292313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T Yo g 1 el Weg i 1A BT

&I : HUI
Options :
I.R/W:W
2. % 3N - fbe
3. % Pl hpal
4. % TUG : Al



Question Number : 85 Question Id : 7532292314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T AT Wee I BT
{Ue

Options :
1. # 3AUg
2. ¢ {aUg
3. % fad
4. % g

Question Number : 85 Question Id : 7532292314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 77T Wrec; &1 faeliv Weg T BT
{Ue

Options :

1. # 3Ug
2. ¢ faug
3. % fard
4. % T

Question Number : 86 Question Id : 7532292315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7T Tsg &1 YATgar Wee 310 BT
ddR

Options :



1. % HHEAY
2. % Hih
3. ¢ Ao

4, % gRIT

Question Number : 86 Question Id : 7532292315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T Wsg 1 T Wsg J1d HifoTT
ddR

Options :
1. ® HHAY
2. % Hilidh
3. ¢ fagor

4, % AT

Question Number : 87 Question Id : 7532292316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferfad areurw & foae IRId e &1 g7 S|

3BT H IS arell
Options :

1. ® Yo}k

2. % TR

3. ¥ YR

4. % WR

Question Number : 87 Question Id : 7532292316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foferfad areurw & foe IRId e &1 g7 S|

3BT H g arell
Options :

1. ¥ YdqR

2. # MR

3. ¥ YR

4. % WR

Question Number : 88 Question Id : 7532292317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 910 BT BT F1d B
= WA S |

Options :

1. ¢ QR Yide BT
2. % U Hias Hred
3. % gq 5 o= &1t
4. % 3quf Yiqwr w1

Question Number : 88 Question Id : 7532292317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 1T aTeRr 1 STt AT BT |

= W ST |
Options :

1. ¢ IR YidS HTct
2. % YT Hias &1el
3. % 3 o Hld= &1
4. % 3] Ui BT



Question Number : 89 Question Id : 7532292318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad are o § Wged a1 91d Sifog|
Options :

1. % gfe 98 uRsl 8 @ sAMRR W 81

2. ¢ 98 IR 3R SAMER B

3. % g5 yiefl § i sHFER Hi g

4. % S URyE gIaT 8 98 SHMGR i gIar 8|

Question Number : 89 Question Id : 7532292318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferad arel # @ Tyger arer J1d Sife|
Options :

1. * gfc a8 UReH! g A SAMCR HI B

2. ¢ I8 URYHT 3R SAMER B

3. % 95 URyHl g b AR W g

4. % S Uiyl BYll 8 98 SHHCR H BIe 51

Question Number : 90 Question Id : 7532292319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfeRad arerl # 4 firy a1e J1d B |
Options :

1. % a3 TS H 3 god Sl |

2. % fagH MEt % 3R 3F aadT |
3. ¢ fag S g3, o H e ao didl |

4. % o MY 81 W 3P Jad1 did |




Question Number : 90 Question Id : 7532292319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRa aredi # § &y a1e J1d Hiferu
Options :

1. % a3 TS H 3 g1 Sl |

2. % fg T g3 SR 3Meh Tkl airet |
3. ¢ o S g3, o o ad didl |
4. % a9 YT 819 W 3 Jerll |

Question Number : 91 Question Id : 7532292320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea aret o 9 firsl ared 31 Siforg|
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

1. b1 TR U 3T g1 & FrAfed aal S|

2. O1d Gh = TR U ST d§ H e aal S|
3. Ife Gh< TR UM 31 df & Seifed gal S|
4. Gop= TR U ATT ST H Sl g T |

Question Number : 91 Question Id : 7532292320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfead arei # 9 firy dre J1d BT |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. Gh= TR UM 311 g1 & FAlcd aal S|

2. 516 Goh = TR U ST dF H H-icd aal S|
3. Ife Gh2 TR UM 31T df & Seifed aal S|
4. Yop= TR U AT ST H defeds g 1|

Question Number : 92 Question Id : 7532292321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 & Iuged form fag &1 o= pifor |
TH TG 31T 31 A8 ISR SR &
Options :

1.v |

2. %

3.8 9

4. % .|

Question Number : 92 Question Id : 7532292321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T arR & Iuged favm fag &1 994 Fifo |
TH TG 31T 3R e ISR SR &
Options :

1.v |

2. % |

3.8 9

4. % .. |

Question Number : 93 Question Id : 7532292322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faT 7T arR & Iuged favm fag &1 9g4 pifo |
3 ATE TRIHH 3R X & forg 3ot fasm Aegr &

Options :
1. % —|

2. % 07
3.% A
4.9,

Question Number : 93 Question Id : 7532292322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU T a1 § Iuged AR forg &1 =994 Hifou|
3T TG IR H 3R M o forg ror fashd 7=igR &

Options :
1. % —|

2.% 07
3.% ..
4. |

Question Number : 94 Question Id : 7532292323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead uy o, fiu 7o IR fawedl § 9, 39 faded o1 9o 3 o f3T 70 gerer & 31 &1 a9y ¥U ¥ oJad Hral g |
33 foadm I

Options :

1. ® JAYd® W BT
2. ¢ YU Gebe Bl

3. % ¥ BT HTH B

4. % DY DI 3R TG




Question Number : 94 Question Id : 7532292323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
36 o

Options :

1. % YAYdSD N1 BT
2. ¥ YU Gebe BT

3. % TR BT HH Bl

4. % DY DI 3R TG

Question Number : 95 Question Id : 7532292324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR fawedl & ¥, 39 fadmen &1 7997 &3 51 fou U geTark & 31 ol Ya9% U § oJad Rl ¢ |
S-S 3T

Options :

1. % FUSI gl

2. % Tool 37ST HRAT

3. ¢ g U fodl o ugf o
4. % qRYfdd Udhe BT

Question Number : 95 Question Id : 7532292324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 fadwed o1 oo 3 ot f3T 7T geTer & 31 &1 a9y ¥U ¥ oJad HRal g |
FUS-dd T

Options :




1. % UST HEIAEl

2. % ol 3G Bl

3. v G W fordil b1 ggf o
4. % QRUIAT Uehe HRAT

Sub-Section Number : 2
Sub-Section Id : 753229153
Question Shuffling Allowed : Yes

Question Id : 7532292325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T ot T | IR O STYR WR Ui Uy T T4 € | I &1 e9gdeh U aul Udid Uy H aR fawedl § 9 Tel fawed g |

25 RIdeR 2014 B YUMHHAT T A & GRT ARY fooam 71 A 31 3301 U Heamiel S g | 59 T &) Y3Td &1 364
HRA D1 3P IATe B-g Bl U VI ST 8 | 3781 U pifdeR] foaR g forgm o td TaR &1 9¢1a1 &1, Sifgd duer & &
F3 3R o= H fay st fafmfor gfare e &1 At s & w1 =1 ugdl &1 & &1 8 | 59 A &1 I8 a6 YRd &I
3Mfdep dfYyes Uga fae T 8| HRd H (e 4 & el s o siergia) O fay & g smuiies (e 1 goH & ol 3 U g
ft| T afYjeh AT B5 § <= B IGa P o1l 39 AP BIRIHH D1 [SHTe foa1 7T § b 3HP U RIH SR faczh bufal &
ford TPy UdTd 3| 39 NI BT I HRAT fIaRIT ol Ja1-Herferd faer died T 4H-Tg- fafator.enferd faerg a@
Adiipd BT 8 | 37 I o1 Ui U TR ¢ e oy sgd IR 7=fi+ ufed §1 377 ufedl & WeR ddr g 2R Tedl 3R gfGA &
TR A1 & | TR & &7 B 3 TR W {1 UgaH 991 1 I8 Farad M g1 Ue 3fi® e s 3 S & dea & ol
3 AP BRIHH D! FSolTe b1 101 ¢ 3 Ao Y G & JaTsfi Pl BIh! Ty §ofl o AR 39 B1 R B GURA & o T1eRT 25 & |
P P TG & 1Y &1 3TH ot T H Yega ga g

Sub questions

Question Number : 96 Question Id : 7532292326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gg A e RY fobar 77 Ur
Options :

1. % 25 faqraR 2014

2. % 23 9qWR 2015
3.+ 25 RIdWR 2014



4, % 23 3AdcdX 2016

Question Number : 97 Question Id : 7532292327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 TG BT - A& FT 82
Options :

1. % fSSRT B

2. ¢ 3Nfdes fasTg

3. ®% AR R

4. % DA DI HH HAT

Question Number : 98 Question Id : 7532292328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T S BT Ui g 1 82
Options :

1. % Ufga

2. % feuRA

3.V W

4. % 4dl

Question Number : 99 Question Id : 7532292329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=g IIorT ¥ fhae! Sifid v gan g2
Options :

1. # d&

2. % gl

3. % Higarsl

4. ¢ gdl




Question Number : 100 Question Id : 7532292330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TR T IUGeR] Liitieh T BT
Options :

1. ¢ b g9 Sfsa1

2. % UUR

3. % YHI0gA

4. ® ifdpR faaR

Question Id : 7532292325 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TR T 71 8 | TTRIiRT b SR WR Gid Uy AU U § | TRIi=1 & e4-qdes U adT Ul Uy H IR fdsedl & 9 9@ fadwed |

25 RIdER 2014 B YUMHHAT T A & GRT SRY fooam a1 A 31 3301 U Heamiel S g1 59 I & YRaTd &1 360
HRd P Afp ITeT 5 BT T I T & | 3STT T pifdp R} iR § S 9w td Ta™R &) 9¢1a1 &, Sifgd duer o e
w3 3R o= ¥ fay Wt fafmfor gfare e &1 fFmfor s & e e 18 ugdl &) e &1 8 | 59 I &1 e a7 YRd &I
3Mfiep dfyes Uga fae T g | HRA & (1w A & ford 1sTa iR siargha) O fay § g ey (axie] &1 g & o’ 3 U g
| T dfyfeh AU Ps H A= Bl Fgai- b o1l 39 AP BTAshH 1 FSW1s Tl 71 8 Hifh 38 U R 3R fageh bufai &
ford 3o URdTa B 1 39 I o1 I HRAH 3rfcda®iT o) Ja1-Taiferd faem Aisd ¥ 4H-1Tg+ fafaiur-g=nferd faerg a%
T BT 31 37 AT o1 Uciies Teb IR & F1eh I Iga IR A=f ufgd 81 37 9kl & TeR Iaidr 98 IR Tedl 3R gfgax &I
e RId FHRdl 8 | AUR & & § afiieh TR W (U1 UgaH S &1 I8 Farad I 81 U dfidh TR &g § R I gaa & ol
U AP HRIHH D FSTe- ba1 71 § 39 oI T G & GaTsil Bl BT e g3 3 3R 31 1 UK T URA & ford TrmeT 25 &3 |
HIA B! TGMH & 1Y & 3T F1 WA H YegdH g3 g |

Sub questions

Question Number : 96 Question Id : 7532292326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g I Hd RY foar T U
Options :

1. % 25 fegmR 2014



2. % 23 9qWR 2015
3.+ 25 RIaWR 2014
4, % 23 3fACaR 2016

Question Number : 97 Question Id : 7532292327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 T T T 8T T 32
Options :

1. % fEomsd &

2. ¢ 3 fapry

3. % g o

4. % B B HH HAT

Question Number : 98 Question Id : 7532292328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 3O &1 Ui g 1 62
Options :

1. % Uiy

2. % fgagA

3. ¥ R

4, % 4gdl

Question Number : 99 Question Id : 7532292329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 IS W fb et Sifieh dTH ol 82
Options :

1. ¥ d&

2. % §d|

3. % Hfgarsl




4. gal

Question Number : 100 Question Id : 7532292330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR BT SUGR e T B

Options :
1. ¥ Hb S 38T
2. % YUR
3. % HH-Tgd
4. % pifdeRl faTrR
Disciplinel
Group Number : 6
Group Id : 753229127
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 753229127
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229154
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532292331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The German states took a major step toward an expansion of commerce and manufacturing when they formed the Zollverein, a ,in 1834,
Options :

1. % medical union
2. % trade union
3. % customs union

4. % merchants union

Question Number : 101 Question Id : 7532292331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SH I A arforsy 3R fafafor & fowaR &) fewn & te 981 HeH I3 5d I614 Saalkd, U . BT 1834 H fa

Options :

1. % fofdean 9y
2. % HUR 99

3. T Yeh Y
4, % AR Y

Question Number : 102 Question Id : 7532292332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Champaran Satyagraha was related to the cultivation of which crop?
Options :

1. ¥ Cotton



2. ¥ Indigo
3. # Rice
4. % Maize

Question Number : 102 Question Id : 7532292332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR JATUE b g B &I Wdl T Jafdd Y
Options :

1. # Uy

2. ¢ Hid

3. % d[dd

4. ¥ Hdd]

Question Number : 103 Question Id : 7532292333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding the Second Five Year Plan of India?

L. It began in 1963.
II. It focused on rapid industrialization.
III. It was developed by P.C. Mahala Nobis.

Options :

1. % Only I
2. % Il and IIT
3. % Tand III
4, % Only II

Question Number : 103 Question Id : 7532292333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd P &R Uerasifa Ao & Geof # Fafafad & @ &9 91 oy 98 T8t 82



I. 3B YT 1963 H g3 |
IL 39 ot ¥ 3N ftesur iR e dhfgd faa|
111 39 Ot . Age e gRT fasRid favar mar an

Options :

1. ¥ Had 1
2. % I dYTIII
3. % TdYTII

4. % Had I

Question Number : 104 Question Id : 7532292334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was the wife of the king Louis XVI?
Options :

1. # Maria Theresa

2. ¥ Marie Antoinette

3. ® Mary of Scots

4. ¥ Marie Prescott

Question Number : 104 Question Id : 7532292334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T3 XVI BT Ut D ot 2

Options :

1. % HIRET AT

2. ¢ TRATERS

3. % Wplcg & W

4. % TR TPl

Question Number : 105 Question Id : 7532292335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which finance minister of France demonstrated that Jacques Necker’s calculations of royal finances were far-fetched?
Options :

1. ¥ Charles Alexander de Calonne

2. # Chevalier Lamarck

3. # Anne Turgot

4. % Charles Brienne

Question Number : 105 Question Id : 7532292335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wi & fohe o Tt 3 g UG Rid fasan o Sia e &1 e faxt &1 TTorT srardfass i
Options :

1. ¢ 9T 3Aidoie] of

2. % QAR CHTH

3. % AT

4. % gred foeA

Question Number : 106 Question Id : 7532292336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In , the French king agreed to double the number of representatives of the third estate but declined to give all members an individual vote.
Options :

1. % April 1788

2. % March 1789

3. % July 1788

4. ¥ December 1788

Question Number : 106 Question Id : 7532292336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, Thd e RT3 e o UfafAferl ot Tean giHl - & Tgddl &t g 94t 9awl & AfdaiTd dic o 9 1R fabd|




Options :

1. % 30 1788
2. % T 1789

3. % S[alls 1788
4.« TSHaR 1788

Question Number : 107 Question Id : 7532292337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the third estate overwhelmingly approved a motion that declared them as National Assembly by Sieyes?
Options :

1. % 17 June 1789

2. % 18 June 1788

3. % 19 June 1789

4. % 20 June 1788

Question Number : 107 Question Id : 7532292337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TXT A T URATd Dl URT =0 Y el Hodl d1 foram 3 W gRT %M sridell eifdid o fear o
Options :

1. ¥ 17911789

2. % 18911788

3. % 19911789

4. % 20911788

Question Number : 108 Question Id : 7532292338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following were the first stages of the French revolution?

I. Convoking Estates General



II. Storming of Bastille
III. Ascension of Louis XVI

Options :

1. # T and III
2. % Tand II

3. % Il and III
4, % Only I

Question Number : 108 Question Id : 7532292338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & ¥ o9 3 wiERT Hifd & uuH =R 99

1. Y SRd Bt GUT T

1. §Red &1 g
II1. 3 Hieigd o1 I&TH

Options :

1. % 1dYUTIII
2.¥ 1T I

3. % I dUTIII
4. % Had 1

Question Number : 109 Question Id : 7532292339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was crowned as the “King of Awadh” by the rebels of 18577
Options :

1. ¥ Birjis Qadr

2. % Wajid Ali Shah

3. % Bahadur Shah

4. % Shah Alam



Question Number : 109 Question Id : 7532292339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 & ISR GRT "31aY & <" & = H b ATl Tg=111 77 U2
Options :

1. ¢ RIS &g

2. ® qIfoTe 3fefl T8

3. % TEIGY Y8

4. % XTg ATTH

Question Number : 110 Question Id : 7532292340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was Jhansi annexed by the British Empire?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 1851

2. 1852

3.1853

4. 1854

Question Number : 110 Question Id : 7532292340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i 1 el feife=r AraTed 1 3iv1 UifSd fovam mar ur
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. 1851
2. 1852
3. 1853
4. 1854

Question Number : 111 Question Id : 7532292341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who proposed the Communal Awards in 19327
Options :

1. ¥ Ramsay MacDonald

2. # John Simon

3. % Munroe Wilson

4. # Lord Curzon

Question Number : 111 Question Id : 7532292341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1932 H HYAP REBRI BT UdTd fbgq feam ur
Options :

1. ¥ Y AH SIS

2. % W9 9EH

3. % ORI faegm

4. % IS HoH

Question Number : 112 Question Id : 7532292342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pact of 1932 was a pact between Mahatma Gandhi and B.R Ambedkar.
Options :

1. # Delhi

2. # Calcutta



3. % Poona
4. % Madras

Question Number : 112 Question Id : 7532292342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1932 B T gt el 3R &Y. 3R, SISHR &b oI U JHSIIT AT
Options :

1. % faoett

2. % HAbl

3. ¢ A

4. % AGN

Question Number : 113 Question Id : 7532292343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A resolution boycotting the Simon Commission was passed at the 1927 Congress Session.
Options :

1. # Lucknow

2. ¥ Madras

3. ® Lahore

4. % Kanpur

Question Number : 113 Question Id : 7532292343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1927 % HUF B YA H GISHT HHIYH BT de®HR B dTdl U UXdTd Ui {1 /T 7|

Options :

1. % 913
2. ¥ Halg
3. % AR




4. % HHR

Question Number : 114 Question Id : 7532292344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Vernacular Press Act act was passed in and was directed only against Indian language newspapers.
Options :

1. ¥ 1878

2. % 1885

3. % 1894

4. % 1902

Question Number : 114 Question Id : 7532292344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR I e Tae T U7 fosa Tam o7 3R 39 dhad HRGIG HTST & JHMER TH1 o R e Rid fasar ma o1
Options :
1. ¥ 1878
2. % 1885
3. % 1894
4. % 1902

Question Number : 115 Question Id : 7532292345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did Anti-Rowlatt Satyagraha begin under Mahatma Gandhi’s leadership?
Options :

1. ¥ 1919

2. % 1918

3. % 1920

4. % 1921



Question Number : 115 Question Id : 7532292345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRTAT it & Aded T eic faRiel Tamig &d = g3
Options :

1. % 1919

2. % 1918

3. % 1920

4. % 1921

Question Number : 116 Question Id : 7532292346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first Soviet in Russia came into existence in which year?
Options :

1. ¥ 1905

2. % 1909

3. % 1913

4. % 1917

Question Number : 116 Question Id : 7532292346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= H yyH Hifdyd forg av 7 sifida o st ot
Options :

1. ¥ 1905

2. % 1909

3. % 1913

4. % 1917

Question Number : 117 Question Id : 7532292347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The Declaration Of Rights of Working and Exploited People was adopted in which year in Russia?
Options :

1. % 1914

2. % 1916

3.9 1918

4. % 1920

Question Number : 117 Question Id : 7532292347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& ¥ forg au & Do SR N AN o SHTYBRI BT GO BT SUHTIT T U2
Options :

1. ® 1914

2. % 1916

3.4 1918

4. % 1920

Question Number : 118 Question Id : 7532292348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, Vladimir Ivanovich Voronkov Lenin was converted to Marxism?
Options :

1. % 1886

2. % 1887

3. % 1888

4. ¥ 1889

Question Number : 118 Question Id : 7532292348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ACHR gamMIfad dRicbId A i forg 9 ATeiare & ufkafdd foar mar am




Options :
1. % 1886
2. % 1887
3. % 1888
4.+ 1889

Question Number : 119 Question Id : 7532292349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 1905 Revolution was also known as for the 1917 Revolution.
Options :

1. # first prototype

2. # fertile ground

3. % dress rehearsal

4. % semifinal

Question Number : 119 Question Id : 7532292349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1905 1 Shifd DI 1917 1 shifd o ferg & =Y H Hi ST ST |
Options :

1. % g Werersy

2. % IUSTS; HeM

3. ¢ 39 Rgda

4. % JHHRAA

Question Number : 120 Question Id : 7532292350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements best describes 'Russification'?



I. Elimination of the languages and pieces of literature and culture of the other countries.
II. Encroachment of their neighbouring countries.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 120 Question Id : 7532292350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfIfEad & ¥ o 91 BT THBI0T BT a9 33T JUMH HRdT 82

I. 3 SR B HTHT3fT SR AR 3R WP i & Tha| Bl SHA|
I1. 30 Gt o= ol Hfahau|

Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl

4. % qEIIATE I
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Group Id : 753229128
Group Maximum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Discipline2
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 753229155
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532292351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The means of production that is owned by a few individuals are also known as
Options :

1. * socialist

2. % fascist

3. * feudalist

4. ¥ capitalist

Question Number : 121 Question Id : 7532292351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$S faad! o WIHQ aTd SdIe- & e B & =0 H 1ff ST ST 8 |
Options :

1. % gHTSIATE!

2. % IR




3. % Fraqdret
4. ¢ Yofiarat

Question Number : 122 Question Id : 7532292352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a capitalist philosopher?
Options :

1. % Adam Smith

2. % Karl Marx

3. % Jeremy Bentham

4. % John Locke

Question Number : 122 Question Id : 7532292352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofifad 7 3 o1 doftard) aife 781 &
Options :

1. % TeH Ry

2. ¢ T AR

3. % ORH YA

4. % S dlb

Question Number : 123 Question Id : 7532292353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first socialist to believe that the general well-being is incomplete without including women?
Options :

1. ¥ Charles Fourier

2. % Matti Kurikka

3. ® David Dale



4. # William Thompson

Question Number : 123 Question Id : 7532292353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Afgenal & AMHe fHT fomT T HedTur 31eRT § AIF aTell Ugdl JHTSare! HiF T2
Options :

1. ¢ I BRAR

2. % Tl HRBT

3. % gfdg s

4. % faferaw YTgE

Question Number : 124 Question Id : 7532292354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of term - used in country is correct?

I. Duce — Leader in Italy
II. Fuhrer — Leader in Germany

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 124 Question Id : 7532292354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 - <% H UG g ara Fafiad § 3 &9 91 g Ig1 52

I SF - gedll § Al
1. RIER — ST & =T

Options :




1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 125 Question Id : 7532292355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the fascist, which of the following pair of term - meaning is NOT correct?

L. Plutocratic-Having their colonies
II. Proletarians-Not having colonies

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 125 Question Id : 7532292355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WRIaTE! & YR, Wes - 3 H1 Agfoied & ¥ o9 91 3w 98! 781 82

. QeI ied - fords Jufa §

11 JIeRT 31 - fS Uy Iufaw gl &
Options :

1. % PHadl

2. % Had Il

3. % [qUT el

4. I

Question Number : 126 Question Id : 7532292356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did the World War II started?
Options :

1. * 1938

2.9 1939

3. % 1940

4. % 1941

Question Number : 126 Question Id : 7532292356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgcita fay g5 forg oo & &= gamam
Options :

1. % 1938

2.9 1939

3. % 1940

4. % 1941

Question Number : 127 Question Id : 7532292357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, the League of Nations appointed temporary Mixed Commission?
Options :

1. ®* 1916

2. % 1918

3. %1920

4. % 1922

Question Number : 127 Question Id : 7532292357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fory oy o <fT STt =i = et fiifsra s &t Fgfaa &
Options :
1. # 1916
2. % 1918
3.4 1920
4. % 1922

Question Number : 128 Question Id : 7532292358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ‘Big Three’ countries conducted the Paris Peace Conference?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Russia, USA and Germany

2. Germany, Japan and Britain

3. USA, Russia and Germany
4. USA, Japan and Britain

Question Number : 128 Question Id : 7532292358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 2Tifa Srie o1 Smiter fobe T ol St = fopa
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. %9, g, 9. T. 3R STt

2. SR, ST SR e

3.7 U9, T, 9 3R ot



4.9, TY. T, S 3R faeq

Question Number : 129 Question Id : 7532292359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of Colonial Disputes in Europe, which of the following statements is correct?

I. Africa and Asia create the major Collision between European powers.
II. Austria and Hungary are the major European powers who fought for the colonies.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 129 Question Id : 7532292359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y H Nufrdfes faarel & da #, Fufefad # 3 &1 91 oy I8t 82

1. 3MPTT SR TR, g Xifekadl & did UE T Ual 33 & |
11, 3 SR Rt T QR Wt & R Sufasit ¥ fe aer aeh

Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 130 Question Id : 7532292360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Brundtland Report is the output of which commission?
Options :



1. ®* WHO
2. ¥ WCED
3. ¥ IFAD
4. % CAO

Question Number : 130 Question Id : 7532292360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
siects oY o smahT 1 Iare § 2
Options :

1. % S&Y, TF. 3.

2. ¥ S, Wl 3. 8.

3. % TGS,

4. % T 3.

Question Number : 131 Question Id : 7532292361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Asteroids are found between the orbits of
Options :

1. ¥ Mars and Jupiter

2. # Venus and Earth

3. % Jupiter and Neptune

4. % Mercury and Mars

Question Number : 131 Question Id : 7532292361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GEVH & HefTsll & &g U S ¢ |

Options :

1. ¢ T SR ggfd



2. % Ik 3R geat
3. % ggfa SR Au=gH

4. % gY 3R TG

Question Number : 132 Question Id : 7532292362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sedimentary rocks is formed organically?
Options :

1. ®* Gypsum

2. ¥ Limestone

3. % Shale

4. # Loess

Question Number : 132 Question Id : 7532292362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffed # § &1 I s A HeHd U F §dt 82
Options :

1. % foregH

2. ¥ AT UR

3. % 3d

4. % Ty

Question Number : 133 Question Id : 7532292363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to E. Suess’s layering system of the earth, ‘Sima’ layer is located

L. below the Sial layer
II. above the Nife layer

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 133 Question Id : 7532292363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3. WY & Pt &1 IR YUIEt & IR, AT )R fRag|

1. R md & =
1L A% Rd & I|W
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 134 Question Id : 7532292364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a major plate of the lithosphere?
Options :

1. # African plate

2. # Pacific plate

3. % Eurasian plate

4. ¥ Arabian plate

Question Number : 134 Question Id : 7532292364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafiied o 9 ®F waHsd &1 Teh UgE We gl 82



Options :

1. % 3IpIhl Wic
2. % URId wie
3. % PRI wie
4.« IRISTA wie

Question Number : 135 Question Id : 7532292365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Theories of mountain building — Geologist’ is correct?

I. Geosynclinal orogen theory — Kober
II. Thermal contraction theory — Jeffreys
II1. Radioactivity theory — Joly

Options :

1. # Iand II

2. % Il and III
3. % Only I

4. % 1,1 and III

Question Number : 135 Question Id : 7532292365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ueTe i & Rigid- yame o Fafifed & § o 91 gw 98 22
1. forRifdee SiRio Rigid — dre

1. ST o Rigid — obi

11, YfSaefear Rgid - sieit

Options :

1% IdUT

2. % I dYTIII

3. % ad |

4. 1,11 QYT 11



Question Number : 136 Question Id : 7532292366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tides which are caused when the sun, the earth and the moon come in the position of quadrature are called
Options :

1. # Bore tide

2. # Spring tides

3. % Neap tides

4. # Nadir tides

Question Number : 136 Question Id : 7532292366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gd, gedt 3IR THT $ FHS IO R H M RN OR339 FeT gl
Options :

1. ® IR SR

2. % dgd vdiR

3. ¥ Y SdR

4. % AR IR

Question Number : 137 Question Id : 7532292367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pressure belts is called ‘doldrum’?

I. Equatorial low pressure belt
II. Polar high pressure belt

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII



4. % Neither [ nor 11

Question Number : 137 Question Id : 7532292367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafea § @ SH- gre U Siasy Heardl 82
I {HEREY 9 grd Ut

I1. YA 3= Ga1d deT
Options :

1. Had |
2. % Had Il
3. % [ UGl
4. % qEIIATRIII

Question Number : 138 Question Id : 7532292368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A form of solid precipitation consisting of large pellets or spheres of ice balls is known as
Options :

1. % Sleet

2. % Hail

3. * Drizzle

4. # Frost

Question Number : 138 Question Id : 7532292368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 aNU T Th =0 g 96 S M H IS S AT MA B ©, & ¥Y H S ST g |

Options :

1. % gf¥ (Sleet)
2. ¢ 3{IdT (Hail)




3. % §aI §id] (Drizzle)
4. % JUR (Frost)

Question Number : 139 Question Id : 7532292369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atmospheric pressure is depicted on maps by imaginary line known as
Options :

1. ¥ Isobar

2. # Isotherms

3. % Isohytes

4. # Isohaline

Question Number : 139 Question Id : 7532292369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JQHSAI I D! S TTH S 9 aTell Tedf-ie Y@ gRT HFRET IR S=IiaT STdr 8|
Options :

1. ¥ TS (SSHISR)

2. % FHAY (ATSHIYH)

3. % JHAY (SMSHIETH)

4. % FHAU (ATHQATS)

Question Number : 140 Question Id : 7532292370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If incoming short-wave solar radiation is 100 per cent, then the heat budget of the atmosphere comprises of solar radiation.

Options :

1. # 34 percent

2. ¥ 48 percent

3. # 20 percent



4. # 61 percent

Question Number : 140 Question Id : 7532292370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe; 3 TRt Y- IR fAfHRT 100 UfA=Id 8, T AIHSA & &1 dwie H IR fafavor &1 M g &

Options :
1. % 34 gfd=rd
2. ¢ 48 UfaRrd
3. % 20 UfcrRrd
4. % 61 gid=rd
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Question Number : 141 Question Id : 7532292371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Red Data list maintained by the [IUCN includes which of the following categories?

I. Vulnerable species
II. Near threatened species

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 141 Question Id : 7532292371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3118, g, . T, g1 SfRfard ¥ sel gt # Fufafad # 3 o 6t 4oft 2nfee g2

. gHe Sirfaar _
1. I 819 & Fak & U aTeht siiial
Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B

Question Number : 142 Question Id : 7532292372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nag Tibba peak is situated in which Himalayan range?
Options :

1. # Outer Himalaya

2. ¥ Lesser Himalaya

3. % Trans Himalaya

4. # Greater Himalaya

Question Number : 142 Question Id : 7532292372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fesaT At for fewTer gfae o fRud &2
Options :

1. ® gl fgHrer

2. ¢ 39 fedrera

3. % iy fgHTerd

4. % Y} fgATea

Question Number : 143 Question Id : 7532292373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Luni river originates from which state of India?
Options :

1. # Uttar Pradesh

2. # Andhra Pradesh

3. #% Gujarat

4. ¥ Rajasthan

Question Number : 143 Question Id : 7532292373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T T YR & b T | I d Bl 2
Options :

1. ® I U

2. % 3{ig UG

3. % ToRId

4. ¢ STV

Question Number : 144 Question Id : 7532292374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Western Ghats range starts from which state of India?
Options :

1. ¥ Gujarat

2. % Maharashtra

3. % Kerala

4. % Goa

Question Number : 144 Question Id : 7532292374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gy T Y7ar HRd & ford I J L= Bl 82
Options :

I RN N

2. ® HeRIY

3. % A

4. % Tar

Question Number : 145 Question Id : 7532292375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pass is situated in Himachal Pradesh?



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Dihang pass

2. Thang La pass

3. Niti pass

4. Bomdi La pass

Question Number : 145 Question Id : 7532292375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 oI a1 = fere ue= 7 fRya 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. fagin axi

2. YT AT e

3. ARt

4. S a1 A

Question Number : 146 Question Id : 7532292376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following regions of India, laterite soil is found?

I. Western Ghats
II. Hills of Assam

Options :
l. % Only I
2. % Only I



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 146 Question Id : 7532292376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & FafoRad & § forg & & dexrge gar urs et 32

1. af3dt gre

11, 3/ ¥ & ygTfsar
Options :

1. % Had |

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 147 Question Id : 7532292377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following mountain ranges has the height above 7000 metre?

I. Kamet
II. Nanda Devi
II1. Kedarnath

Options :

l.¥ TandII

2. % Only IIT
3. % Il and III
4, % 1,1l and III

Question Number : 147 Question Id : 7532292377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. BTHC
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Options :

1. 1dUT I

2. % DHad I
3. % IIdYUT I
4. % 1, 11 dYTIII

Question Number : 148 Question Id : 7532292378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following demographic transition stages, both fertility and mortality rates are high?
Options :

1. # Stage 4

2. % Stage 1

3. % Stage 3

4. % Stage 5

Question Number : 148 Question Id : 7532292378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa 7§ Q fg sHifeeg Thaur a1 8, Uoi+ iR §g R aHI S 8ld 82
Options :

1. % TRUT4

2. % TRT |

3. % TR 3

4, % TRU5




Question Number : 149 Question Id : 7532292379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following socio-economic factors does NOT act as a determinant for uneven distribution of population?
Options :

1. # Availability of mineral resources

2. % Urbanisation

3. % Political decision

4. ¥ Agricultural practices

Question Number : 149 Question Id : 7532292379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 ¥ o 1 IrHiioie- i PR SEBA & JHM Ao & fiw RuRe & 0 & &1l 981 drar g2
Options :

1. % QS ST D Ul

2. % QERIHI

3. % oI ol

4. ¥ Y ygfeai

Question Number : 150 Question Id : 7532292380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct expression of Effective Literacy Rate?

Options :

1. # (Number of illiterate persons aged 7 and above x 100) / Total population

2. ¥ (Number of Literate persons aged 7 and above x 100) / Population aged 7 and above
3. # (Number of illiterate persons aged 7 and above x 100) / Population aged 7 and above
4. ® (Number of Literate persons aged 7 and above x 100) / Total population

Question Number : 150 Question Id : 7532292380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Frofafead & @ o R vurdt wrerar & @1 e sifiveafad 82

Options :

1. % (799 3R 3TN AP 3R & FReR Al B T-AT x 100) / FA TG

2. ¢ (7T SR I AP 1Y & WI&R Al P AGAT x 100) /7 TY 3R I 3D AT BT ST
3. % (799 3R I S Y & FRER AT DI LA x 100) / 7 TH SR I AP 1Y b SIEe
4. % (739 3R I AP MY & WIeR AfGad B WSAT x 100) / A ST

Question Number : 151 Question Id : 7532292381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The leading producer of iron and steel in the world is
Options :

1. ¥ China

2. # India

3. % Australia

4. % Brazil

Question Number : 151 Question Id : 7532292381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sy & et IR STTd BT SRTUh IACH gl

Options :

1. v 9

2. % HRd

3. ® 3fiReferarn
4. % gford

Question Number : 152 Question Id : 7532292382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following pairs of ‘Industrial region — Country’ is correct?

I. Great Lakes Region — USA
II. Loraine Region — France
III. Kanto Region — South Korea

Options :

1.¥ Tand II

2. % Only III

3. % Tand I

4. % I, 1I and III

Question Number : 152 Question Id : 7532292382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. 1dUT Il

2. % ohad III
3. % [dYUTII
4, % I, I dYT I

Question Number : 153 Question Id : 7532292383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a kharif crop?
Options :

1. ¥ Rice

2. % Wheat

3. % Barley



4. % Gram

Question Number : 153 Question Id : 7532292383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frafiid 3 2 B 6 T T 5 e 8
Options :

1. ¥ =ldd

2. % g

3. % Sl

4. % [

Question Number : 154 Question Id : 7532292384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following technological factors influence the agriculture of any region?

I. High yielding varieties
II. Chemical fertilisers
Options :

1. #® OnlyI

2. % Only II

3. % BothIand II

4. # Neither I nor II

Question Number : 154 Question Id : 7532292384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfRed & ¥ & T 1D RS fHd! &8F & HY & THIfad HRd 82
1. 39 IuS A aret fored

1. IRAP IRP
Options :




1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 155 Question Id : 7532292385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % AT I

Question Number : 155 Question Id : 7532292385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the rubber crop?

L. It requires moist and humid climate with rainfall of more than 200 cm.
II. It requires temperature below 20 degree C.

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. # Neither I nor II

Question Number : 156 Question Id : 7532292386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the world’s longest highway tunnel?
Options :

1. # Laerdal tunnel, Norway

2. ¥ Atal tunnel, India

3. % Mount Ovit tunnel, Turkey

4. # Saint Gotthard, Switzerland

Question Number : 156 Question Id : 7532292386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed o 9 31 W fay o gad el IoHRT G 82
Options :

1. % drsd ¢d, Ald

2. % 3{cd] cdd, HRd

3. % A3 3fifde ed, gl

4. % HeMYS, RIToRds

Question Number : 157 Question Id : 7532292387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following serves as the headquarters of the Eastern railway zone in India?
Options :

1. ¥ Kolkata

2. % Gorakhpur

3. # Bilaspur

4. ¥ Bhubaneshwar

Question Number : 157 Question Id : 7532292387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ HIABIAl
2. % TRER
3. % fodEQR
4, % YaAR

Question Number : 158 Question Id : 7532292388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Post disaster the first job of a rescuer is to
Options :

1. # check the working conditions

2. % set camps nearby

3. ¥ assess the area

4. % call the nodal ministry

Question Number : 158 Question Id : 7532292388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TUET & 91 Saadhd ST UgaT S BT gl
Options :

1. % BT B P FYUFA P Sirer AT

2. % 3TY-UY fRIfGR T

3. ¢ A BT HTHAT DA

4. % 18 AT B! Hicdl DT

Question Number : 159 Question Id : 7532292389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of roof is appropriate for reducing wind force on the roof during a cyclone?



Options :

1. # Gable roof

2. % Pyramidal roof
3. % Shed roof

4. # Flat roof

Question Number : 159 Question Id : 7532292389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHaTd b SR Sd IR UG- 9 P HH B & (018 [ UHR &1 Fd STIE 62
Options :

1. % 79 Bd
2. ¢ RIS &d
3. % Y Bd
4. % gUIC Bd

Question Number : 160 Question Id : 7532292390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a cumulative atmospheric disaster?

I. Flood
II. Drought
II1. Tornado

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
l.Iand II
2.0nly II
3. Only III
4.1, IT and I1I



Question Number : 160 Question Id : 7532292390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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191G
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Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1. 1dYT 11
2. had 11
3. ad 111
4, 1, T dYUT 1T
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Question Number : 161 Question Id : 7532292391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following characteristic features of tsunami waves is NOT correct?

Options :

1. # All low-lying coastal areas can be struck by tsunamis.

2. # Tsunamis can occur at any time of day or night.

3. ¥ The maximum speed with which a tsunami can move on coastal plain is 20 km per hour.

4. % Tsunamis can travel up rivers and streams that lead to the ocean.

Question Number : 161 Question Id : 7532292391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % uft fra adt &3 & gl s ol © |

2. % AT & a1 37 & ot oft I s It § |

3. ¢ IS HaM W GAHI B iy 71fd 20 o 1. ufd ger1 81 9ot 3|
4. % FATH T BT 3R A aTelt At AR YRIST B aWb off Fabvel 5 |




Question Number : 162 Question Id : 7532292392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which type of unemployment is present in an urban area?

I. Educated unemployment
II. Industrial unemployment

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 162 Question Id : 7532292392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &7 F [ THR BT SRISTIRT HING 67

1. R RIS
1. 3N SRSy

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATR I

Question Number : 163 Question Id : 7532292393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Indian history, the stagnant population growth was seen in which phase?
Options :

1. * 1920-1940

2. * 1940-1961



3. % 1901-1921
4. % 1921-1951

Question Number : 163 Question Id : 7532292393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Sfaem #, RR S3e gfs fog wror & 35t 18 ot
Options :

1. #* 1920-1940

2. % 1940-1961

3.9 1901-1921

4. % 1921-1951

Question Number : 164 Question Id : 7532292394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With reference to the purpose they serve, tariffs imposed on a commodity can be classified as

I. Protective tariff
II. Revenue tariff

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 164 Question Id : 7532292394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 165 Question Id : 7532292395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given statements state the differences between economic development and economic growth. Which of the following statement is correct?

I. Economic growth is single dimensional whereas economic development is multi-dimensional.
II. Economic growth is measurable, but economic development cannot be precisely measured.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 165 Question Id : 7532292395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I




Question Number : 166 Question Id : 7532292396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of tertiary sector?
Options :

1. # Storage

2. % Banking

3. % Communication

4. ¥ Manufacturing

Question Number : 166 Question Id : 7532292396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 SF qaad &9d $HT 3aTexUl 6! § ?
Options :

1. % YSRUT

2. % S

3. % gOR

4.« 3dlaA

Question Number : 167 Question Id : 7532292397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Government bonds with no coupon payments are called
Options :

1. # Fixed rate bonds

2. # Floating rate bonds

3. % Zero coupon bonds

4. ® (Capital indexed bonds

Question Number : 167 Question Id : 7532292397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fSHT U YITdH Tl IRBRY df S ol CIHRSIGI]
Options :

1. % flhRs T a8
2. % GAIRTIC §f8
3. ¢ SR pUA i
4. % GoT S id S

Question Number : 168 Question Id : 7532292398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The broad objectives of monetary policy in India have been

I. To maintain a reasonable degree of price stability
II. To ensure adequate expansion in credit to assist growth

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 168 Question Id : 7532292398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § Aifee Hifa & e e gl
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Options :

1. % had I

2. % Had II

3. ¢ 1 qUT I A




4. % ATEIIATSII

Question Number : 169 Question Id : 7532292399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Reserve Bank of India publishes figures for how many measures of money supply?
Options :

1. * Five

2. % Two

3. % Three

4. ¥ Four

Question Number : 169 Question Id : 7532292399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U

2. % T

3. % dF

4. ¥ IR

Question Number : 170 Question Id : 7532292400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of economics, which of the following statements is correct regarding a debt instrument ‘bond’?

I. Bonds can only be used by the sovereign government.
I1. Floating rate bonds are securities which do not have a fixed coupon rate.
II1. Owners of bonds are debt holders.

Options :
1. ® Only I



2. % Only III
3.4 [l and III
4, % Jand Il

Question Number : 170 Question Id : 7532292400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % Had I
3. ¢ [ QYT III
4. % 1Y

Question Number : 171 Question Id : 7532292401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding the theory of federalism?

I. Federalism stresses on institutionalisation of diversities and facilitate socio-political cooperation.
II. Federal constitution recognises special cultural rights of the people, especially minorities.
III. Federalism limits power to specific groups.

Options :

1. ® Tand IT

2. % Il and III
3. % land III

4, % 1,11 and III

Question Number : 171 Question Id : 7532292401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [QUTII

2. % (I YT I

3. % QU

4.« 1, I dUT T

Question Number : 172 Question Id : 7532292402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
used to act as the chairman of the planning commission of India before it was dissolved in 2014.
Options :
1. % President
2. ¥ Prime Minister
3. # Vice-President
4. # Union Minister of Home Affairs

Question Number : 172 Question Id : 7532292402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
04TUTEAITET YRA & TIoHT TN & 3He0e & =0 H HIY Bl UT|
Options :

1. % yufd

2. ¢ UYTTHA

3. % JuIpufd

4. % HAIg TgHA!




Question Number : 173 Question Id : 7532292403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Ug U YT b ot

2. % g 5 qu Aror131 o forg ForAgR ot

3. % YA UD YAGPR MDA &b =Y 4 D fobar

4. % gg U SifaRad-daue goidt it

Question Number : 173 Question Id : 7532292403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the planning commission of India?
Options :

1. ¥ It was a statutory body

2. # It was responsible for the 5-year plans

3. % It worked as an advisory body

4. % It was an extra-constitutional agency

Question Number : 174 Question Id : 7532292404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of Union list in the Indian Constitution?
Options :

1. # Naval, military and air force works

2. # United Nations Organisation

3. ¥ Markets and fairs

4. # Post Office Savings Bank



Question Number : 174 Question Id : 7532292404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % A1, 7 3R aRgEAT S H

2. % Y Y Y

3. ¢ SI9IR 3R A

. A
4. # SIhUR ddd db

Question Number : 175 Question Id : 7532292405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding the election system in India?

I. Elections to the Lok-Sabha are carried out using proportional representation system.
II. Maximum age prescribed for a voter is 60 years
III. There is no ban on independent candidates for contesting the election.

Options :

l.¥ TandII

2. % Il and III
3. % Tand III

4. % I, Il and III

Question Number : 175 Question Id : 7532292405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




L. 1dUT I

2. % I dYr
3. % AT I
4, % LI dYT1II

Question Number : 176 Question Id : 7532292406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states of India has a bi-cameral house?
Options :

1. # Manipur

2. % Sikkim

3. # Goa

4. ¢ Karnataka

Question Number : 176 Question Id : 7532292406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & Faffad 7 3 g T # fgueia ge &
Options :

1. ® HOQR

2. % fYfdpH

3. % Tql

4. HAlcH

Question Number : 177 Question Id : 7532292407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is one in each state who is the overall in-charge of conducting the elections in the state.
Options :

1. % presiding officer



2. % chief electoral officer
3. % returning officer

4. % chief executive officer

Question Number : 177 Question Id : 7532292407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % USRI SRt

2. ¢ T A9 HYBRI

3. % feef offftharR

4. % T HRAGR] SUHRY

Question Number : 178 Question Id : 7532292408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are correct regarding the Communist Party of India (CPI)?

L. It was founded in 1930.
I1. It is inspired by Marxism.
III. In 1957 election, the CPI became the first communist party in the world to win election in a parliamentary democracy.

Options :

1. #® Tand II

2. % Il and IIT
3. % Tand III

4, % 1, 1I and III

Question Number : 178 Question Id : 7532292408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 13U

2. ¢ 1 AATIII

3. % QYT

4, % LI dYTIII

Question Number : 179 Question Id : 7532292409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties have a support base and areas of activities confined primarily to the state of Maharashtra?
Options :

1. % Aam Aadmi Party

2. # Shiromani Akali Dal

3. % Shiv Sena

4. % Rashtriya Janata Dal

Question Number : 179 Question Id : 7532292409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 9 fbg gd &1 gad= suR iR Tl & &= gerd: HeRIY Iy ddb Hfid 82
Options :

1. % 3y 3t ardf

2. % RRIA 3ebTell g

3. REa Tl

4. % PTG ST &

Question Number : 180 Question Id : 7532292410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the functions of urban local governments?

I. Maintenance of health institutions
II. Maintenance of markets

III. Public vaccination

I'V. Water supply

Options :

1. % I, Il and III

2. % II, Il and IV
3. % LIl and IV

4. ¢ 1,11, 1l and IV

Question Number : 180 Question Id : 7532292410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % L ITdUTIII

2. % ILIIAYTIV
3% [ I dYTIV
4. 1 11, I dIT IV
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Question Number : 181 Question Id : 7532292411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are correct regarding direct democracy?

L. It wipes out the distinction between the government and the governed and the state and civil society.
II. It ensures greater legitimacy as people are more likely to follow decisions which are taken by them only.

Options :

1. ® Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II



Question Number : 181 Question Id : 7532292411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 UGl

4. % GBI

Question Number : 182 Question Id : 7532292412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The elections which are held much before the schedule are called as
Options :

1. ¥ mid-term elections

2. ® executive elections

3. # referendum

4. ® plebiscite

Question Number : 182 Question Id : 7532292412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S gATa T ¥ 9gd Ugd 8ld § 3 CIRSIGI
Options :

1. ¢ TeTadt 91d

2. % HAGRI g9

3. % qf\’"q%—[ (referendum)




4. % SHJ-TUB (plebiscite)

Question Number : 183 Question Id : 7532292413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the elections of the members of Legislative Assemblies?

I. Members of the Legislative Assemblies are directly elected by the people
II. Members of the Legislative Assemblies are elected by the electoral college

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 183 Question Id : 7532292413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had I
2. % Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 184 Question Id : 7532292414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The 240 year-old monarchy in Nepal was abolished in
Options :



1. ¥ 2008
2. % 2001
3. % 1999
4. % 1995

Question Number : 184 Question Id : 7532292414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GTel H 240 AT GRIHT IAST=Me | BI T T B o |
Options :

1. ¥ 2008

2. % 2001

3. % 1999

4. % 1995

Question Number : 185 Question Id : 7532292415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nepalese movement for democracy arose with the specific objective of reversing the king’s orders that led to suspension of democracy.
Which movement of India is a good example of this kind of movement?

Options :

1. # Chipkoo Movement

2. ¥ Narmada Bachao Andolan
3. % Anti-corruption Movement

4. % Save Silent Valley movement

Question Number : 185 Question Id : 7532292415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % U sfigia

2.« THeT I3 3G

3. % YR faRieh sfiqiad

4. % grscie doll ST 3MgiaT

Question Number : 186 Question Id : 7532292416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which constitutional amendment act of Indian Constitution added ‘right to education’ as a fundamental right?
Options :

1. # 75

2. % 74

3.4 86

4, % 22

Question Number : 186 Question Id : 7532292416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 75

2. % 74

3. ¥ 86

4, % 22

Question Number : 187 Question Id : 7532292417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the Indian constitution, no person shall be eligible for appointment as Governor unless he has completed the age of years.
Options :

1. % 40



2. ¥ 35
3. % 50
4. % 45

Question Number : 187 Question Id : 7532292417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 40

2.¥ 35

3. %50

4. % 45

Question Number : 188 Question Id : 7532292418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Chairman and other members of Joint Public Service Commission in India are appointed by the
Options :

1. # Attorney General of India

2. # Finance minister of India

3. % President of India

4. % Prime Minister of India

Question Number : 188 Question Id : 7532292418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # YRd & TgIIAc]

2. % YRd & fog 531




3. ¢ HRd & AFUf
4. % YRd P YYTHAT

Question Number : 189 Question Id : 7532292419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Validation of certain acts and regulations is provided by which schedule of the Indian constitution?
Options :

1. ¥ Ninth

2. # Eighth

3. ® Seventh

4. % Sixth

Question Number : 189 Question Id : 7532292419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$3 AAFTAT R fafodl &1 fafdmaeo YR o™ & e SrE gRI UeH fhar g 2
Options :

1. ¢ Tdi

2. % 3134l

3. % gradi

4. % Bl

Question Number : 190 Question Id : 7532292420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Special provisions related to are mentioned in the article 371J of the Indian constitution.
Options :

1. # Sikkim

2. ¥ Karnataka

3. % Andhra Pradesh



4. * Nagaland

Question Number : 190 Question Id : 7532292420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Ryfepa
2. ¥ HHlcH
3. % Y UG
4. % TS
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Question Number : 191 Question Id : 7532292421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %= I, [T ddT IV
2. % [ I dYTIII

3. LILINTUT IV
4, % I dUTIV

Question Number : 191 Question Id : 7532292421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At upper primary stage, in social science emphasis is given on which of the following issues?

I. Poverty

II. Child labour

II1. Casteism

I'V. Environmental pollution

Options :
1. = II, Il and IV
2. % I, Il and III



3. L II, Il and IV
4. % [l and IV

Question Number : 192 Question Id : 7532292422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shambavi is using ‘Discussion method’ in the teaching of social science class. The topic she is teaching in the class is ‘Gender Discrimination’.
On which of the following key points she can ask students to collect information by giving them reasonably good time?

I. Gender discrimination in the historic times
II. Gender discrimination at home, in school, in the society
I1I. Ways of overcoming gender discrimination

Options :

1. * Il and III
2. % Only I
3.¢ 1, Il and III
4. % JTand II

Question Number : 192 Question Id : 7532292422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® 1 aYT I

2. % Had |

3.9 1 11T I

4. % 19U




Question Number : 193 Question Id : 7532292423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT correct?

Options :

1. # Quantitative data can be observed and measured exactly.
2. # Qualitative data deals with descriptions.

3. # Qualitative data explains ‘How’ and ‘Why".

4. ¥ Quantitative data cannot be generalised.

Question Number : 193 Question Id : 7532292423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed & ¥ SH-a1 Hy= 98 781 82

Options :

1. % OIS Sl BT D [l o Gobdl & 3R FUTd: AT S YhelT g |
2. % NP Sel faarur § T B

3. % TOMAP Sl ‘B 3R FI' DI SRS Hal g |

4. ¥ AEATHAS ST B ARG ol fodT o Ihd g |

Question Number : 194 Question Id : 7532292424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following combination of Teaching Learning Material — Category of Teaching Learning Material is NOT correct?
Options :

1. #® Educational Tours — Experiential Aids

2. % Bulletin Board — Non-Projected Aids

3. ¥ Micro-Projectors — Non-Projected Aids

4. ® Globes — Non-Projected Aids

Question Number : 194 Question Id : 7532292424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % TS - YATUT JgraD Al

Question Number : 195 Question Id : 7532292425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How to make an article from waste material?

I. Gather the discarded items from your surroundings which are as interesting and different as possible
II. Frame an idea from the discarded item chosen by you
II1. Collect the required tools to execute your idea such as fevicol, scissors, cellotape etc.

Options :

1. # Il and III
2.9 1 Il and III
3. % Tand II

4. % Only IIT

Question Number : 195 Question Id : 7532292425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IIdUT I

2.9 [ 11 dYUT 11T




3.8 [ YT
4. % Had 11

Question Number : 196 Question Id : 7532292426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following devices are used for improving the power of thinking in school?

I. Curriculum development
II. Evaluation and Diagnosis

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 196 Question Id : 7532292426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I

Question Number : 197 Question Id : 7532292427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the causes of Cognitive Disabilities?



I. Metabolism and Nutrition
II. Infections and Intoxications
II1. Psychiatric Disorders

Options :

1. # Il and III
2.9 I, Il and III
3. % Jand II

4. % TandIII

Question Number : 197 Question Id : 7532292427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ dUT I

2. 1, 11 YT I
3% 19yl

4. % 1Y

Question Number : 198 Question Id : 7532292428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the types of Gender Discrimination?

I. Direct
II. Indirect

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 198 Question Id : 7532292428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 199 Question Id : 7532292429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which element is involved in Language Proficiency?

I. Fluency
II. Accuracy

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 199 Question Id : 7532292429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 200 Question Id : 7532292430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is not concerned with placement of children with disabilities in the regular school.

I. Integrated education
II. Inclusive education

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 200 Question Id : 7532292430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dhad |

2. % Had Il



3. % [dUT I Sl
4. ATRIIATRII



